
Supplemental material to the article

“Full replica symmetry breaking in p-spin-glass-like systems”

I. Free energy expansion. To describe the RSB-solution near the bifurcation point temperature T0, where RS “trans-
forms” into RSB, we expand the expression for the free energy up to the fourth order of δqαβ . The deviation ∆F (p) of the
free energy from its RS-part is:
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where the coefficients are given below:
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〈Û2

1 Û
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〈Û2

1 Û
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7

3
〈Û3
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3 Û4〉+ 〈Û3
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7

2
〈Û2
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〈Û2
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2 Û3Û4Û5Û6〉 −

3

2
〈Û2
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